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��������������� ������ ��
������
��� !��� "��� SPSS Version 11 

��� 
 

  Frequency Percent Valid Percent 
Cumulative 
Percent 

Valid ��� 199 80.2 80.2 80.2 
  ���  49 19.8 19.8 100.0 
  Total 248 100.0 100.0   

 
���� 

 

  Frequency Percent Valid Percent 
Cumulative 
Percent 

Valid 20-25 & 4 1.6 1.6 1.6 
  26-30 & 56 22.6 22.6 24.2 
  31-35 & 85 34.3 34.3 58.5 
  36-40 & 49 19.8 19.8 78.2 
  41 &+,-./& 54 21.8 21.8 100.0 
  Total 248 100.0 100.0   

 
	
����� 

 

  Frequency Percent Valid Percent 
Cumulative 
Percent 

Valid 012 88 35.5 35.5 35.5 
  1341 152 61.3 61.3 96.8 
  ���/�3�� 8 3.2 3.2 100.0 
  Total 248 100.0 100.0   

 

����
�� 

 

  Frequency Percent Valid Percent 
Cumulative 
Percent 

Valid &4893 12 4.8 4.8 4.8 
  3:;�3<. 26 10.5 10.5 15.3 
  3:;�3&=�� 29 11.7 11.7 27.0 
  &>� 37 14.9 14.9 41.9 
  &>1 49 19.8 19.8 61.7 
  &4����<4? 90 36.3 36.3 98.0 
  &4����0@ 5 2.0 2.0 100.0 
  Total 248 100.0 100.0   
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����� 
 

Frequency Percent Valid Percent 
Cumulative 
Percent 

Valid <A�B>� 10,000 48 19.4 19.4 19.4 
  10,000-15,000 76 30.6 30.6 50.0 
  15,001-20,000 55 22.2 22.2 72.2 
  20,001-30,000 38 15.3 15.3 87.5 
  30,001-40,000 17 6.9 6.9 94.4 
  40,000 +,-./& 14 5.6 5.6 100.0 
  Total 248 100.0 100.0   

 
 

������� 
 

  Frequency Percent Valid Percent 
Cumulative 
Percent 

Valid Worker 105 42.3 42.3 42.3 
  Officer 52 21.0 21.0 63.3 
  Chief/FM 80 32.3 32.3 95.6 
  Manager 8 3.2 3.2 98.8 
  Agm.Up 3 1.2 1.2 100.0 
  Total 248 100.0 100.0   

 
 

������� 
 

  Frequency Percent Valid Percent 
Cumulative 
Percent 

Valid 1-5 & 52 21.0 21.0 21.0 
  6-10 & 93 37.5 37.5 58.5 
  11-15 & 57 23.0 23.0 81.5 
  16-20 & 29 11.7 11.7 93.1 
  21 &+,-./& 17 6.9 6.9 100.0 
  Total 248 100.0 100.0   
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��	
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���������
�
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���	���	��������	���	� 	� 
Statistics 

 B�� 
N                     Valid 
                      Missing 
Mean 
Std. Deviation 
Minimum 
Maximum 

248 
0 

3.3387 
.66402 
1.00 
5.00 

 

 
��	
��
���������
�
���
���	���	��������	���	��	��!" 

Statistics 
 S�43T 

N                     Valid 
                      Missing 
Mean 
Std. Deviation 
Minimum 
Maximum 

248 
0 

3.7887 
.52210 
1.60 
5.00 

 
 

��	
��
���������
�
���
���	���	��������	���	�#$��$%%	! 
Statistics 

 S�43T 
N                     Valid 
                      Missing 
Mean 
Std. Deviation 
Minimum 
Maximum 

248 
0 

4.0532 
.52845 
1.80 
5.00 

 
 

��	
��
���������
�
���
���	���	��������	���	��&��� 
Statistics 

 S�43T 
N                     Valid 
                      Missing 
Mean 
Std. Deviation 
Minimum 
Maximum 

248 
0 

3.9411 
.58226 
1.00 
5.00 
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Statistics 

 V>�3WS&483�T 
N                     Valid 
                      Missing 
Mean 
Std. Deviation 
Minimum 
Maximum 

248 
0 

3.0774 
.50661 
1.60 
5.00 

 
 

��	
��
���������
�
���
���	���	������	��

)��*� 
Statistics 

 V>�33?X�<YZ= 
N                     Valid 
                      Missing 
Mean 
Std. Deviation 
Minimum 
Maximum 

248 
0 

3.6831 
.60767 
2.40 
5.00 

 
 

��	
��
���������
�
���
���	���	������	��
�+�$��,� &� 
Statistics 

 V>�33?[\3�VY3B:. 
N                     Valid 
                      Missing 
Mean 
Std. Deviation 
Minimum 
Maximum 

248 
0 

3.5121 
.53706 
2.40 
5.00 

 
 

��	
��
���������
�
���
���	���	����
�-���.���	��+, 
Statistics 

 V>�33?V>�34\ 
N                     Valid 
                      Missing 
Mean 
Std. Deviation 
Minimum 
Maximum 

248 
0 

3.7452 
.55723 
1.40 
5.00 
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Statistics 

 X ]^S./+VYT;443 
N                     Valid 
                      Missing 
Mean 
Std. Deviation 
Minimum 
Maximum 

248 
0 

3.9532 
.59722 
1.80 
5.00 

 
 

��	
��
���������
�
���
���	���	����QWL 
Statistics 

 VYT[�W�?>< 
N                     Valid 
                      Missing 
Mean 
Std. Deviation 
Minimum 
Maximum 

248 
0 

3.7804 
.46598 
2.00 
5.00 

 
��	
��
���������
�
���
���	���	����
3�4� $#'�
'
�� 

Statistics 
 X_4`aB�bWSXW?�  

N                     Valid 
                      Missing 
Mean 
Std. Deviation 
Minimum 
Maximum 

248 
0 

3.5942 
.42353 
1.96 
5.00 
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�����3"
�  One Sample T-Test 2 tails -;<��3"
� ���-.���� 
 


!�����3����  
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

@� B�� 248 3.3387 .66402 .04217 

 
One-Sample Test 
 

  Test Value = 2.33 

  t df Sig. (2-tailed) 
Mean 

Difference 
95% Confidence Interval 

of the Difference 

          Lower Upper 
@� B�� 23.923 247 .000 1.0087 .9257 1.0918 

 

 

 

!�����3�
����=> 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

S�43T 248 3.7887 .52210 .03315 

 
One-Sample Test 
 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
S�43T 3.882 247 .000 .1287 .0634 .1940 
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!�����3�
�����??�= 
 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

b�< 248 4.0532 .52845 .03356 

 
  
One-Sample Test 
 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
b�< 11.718 247 .000 .3932 .3271 .4593 

 
  
 
 


!�����3�

�
�� 
 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

1: V3 248 3.9411 .58226 .03697 

 
One-Sample Test 
 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
1: V3 7.603 247 .000 .2811 .2083 .3540 
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������������� One Sample T-Test 2 tails -;<��3"
� ���-.������������"��� 

 


!�����3�
��� 
 

1. ��	��$9��	��
��.9,�&���	�������
�
)�	��� &��	��
��:	;�(<##��&� 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

X�3�813 248 3.11 1.055 .067 

 
One-Sample Test 
 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
X�3�813 11.688 247 .000 .78 .65 .91 

 
  
 

2.  	��:	�	�;���$4&��
=�:	;),��	��	�	�>#&9���
��	�����&����
��	�:	�	�.9,
(?����	�9
 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

1>.<:> 248 3.26 .938 .060 

 
One-Sample Test 
 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
1>.<:> 15.575 247 .000 .93 .81 1.05 

 

 
3. ��	��$9��	��
���:	�	���+�;���	'��9�,���
�9
 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

1[�W 248 3.17 .940 .060 
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One-Sample Test 
 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
1[�W 13.995 247 .000 .84 .72 .95 

 
 

4. ��$4&��
 	��	�����	�;� 	�'&A�	�	��	B
';), &���	� 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

S��?W 248 3.37 .844 .054 

 
One-Sample Test 
 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
S��?W 19.427 247 .000 1.04 .94 1.15 

 

 
5. ��$4&��
 $# ���
'-�����
��$�����	''�& �	� 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

1 X14�3 248 3.79 .678 .043 

 
One-Sample Test 
 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
1 X14�3 2.932 247 .004 .13 .04 .21 
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6.  	��
���$4&�#&9�>	��
�;),'�& �	�.9,'& *��� 
B�� D�E��&��'& ����	�	�  ���)����'& *���F�F 
�$��
)��	�
=B���;),��	��+,�G *�����	�#	 ��	�
)�-����,	�����	�
��
�9.9, 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

19�.@? ̂ 248 3.74 .838 .053 

 
One-Sample Test 
 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
19�.@? ̂ 1.540 247 .125 .08 -.02 .19 

 
  

7. ��	��������	��!"��
��.9,9

�-���
��	��&9��,� &�*+,�-�� 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

V>kVY3 248 3.65 .657 .042 

  
One-Sample Test 
 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
V>kVY3 31.501 247 .000 1.32 1.23 1.40 

 
 
 

8. ��	�'�;#�
���$4&��
 	����
��$�;),'�& �	�
 $9 	�
�
���+,���'&A�	��
��;�
�-��� 	��:	�	�
��+�
��� 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

X4?�.4\ 248 3.83 .780 .050 
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One-Sample Test 
 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
X4?�.4\ 3.527 247 .001 .17 .08 .27 

 
 

9. ��	��$9��	 	��
��	� 	��
���H����#�B���;),��	��
�	��!"�
�9
��+�
��� 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

4� B�� 248 4.19 .695 .044 

 
One-Sample Test 
 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
4� B�� 11.899 247 .000 .53 .44 .61 

 
  

10. ��	��
��	���� &� 	��:	�	�;�(<##��&� 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

V>�31Y+ 248 3.54 .773 .049 

 
One-Sample Test 
 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
V>�31Y+ 24.568 247 .000 1.21 1.11 1.30 

 

 

 
 
 



 219 


!�����3�
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11. ��	�)�
 
�
��� 	�
�,	.(
 
����,�� &���	������ (��
�� 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

X=?^�  248 4.08 1.021 .065 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
X=?^�  6.425 247 .000 .42 .29 .54 

 
 

12. ��	��
��	������ ��&=��
�.9,
�,	���� $# ���
'-���&��� 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

B�bB443 248 3.92 .608 .039 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
B�bB443 6.616 247 .000 .26 .18 .33 

 
  

13.  ��	��+,�G �
��	������ ��&=�
�-��.9,�:	(��D�B�"
'-�����-�� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

&480��. 248 4.12 .637 .040 

 
One-Sample Test 
 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
&480��. 11.388 247 .000 .46 .38 .54 
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14. ��	��&9�$�;#
�,	���� $# ���
'-���&���9,����	���&��;# 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

13:V4lb 248 3.96 .651 .041 

 
  
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
13:V4lb 7.347 247 .000 .30 .22 .39 

 
  

15. ��	��+,�G *$9)	 �,�� ���:	�$���
��&9�����	�>+ �,���	�#�$�/��� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

4\1,BZ�2 248 4.19 .737 .047 

 
  
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
4\1,BZ�2 11.318 247 .000 .53 .44 .62 

 


!�����3�

�
�� 
16. ��$4&�;),D� 	�'�& �	�.9,�
��������;� $# �����	�I���	�
��	
�
�� &� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

1>.4>3 248 3.58 .970 .062 

 
One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
1>.4>3 20.378 247 .000 1.25 1.13 1.38 
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17. ��$4&���&�����;),'�& �	��:	�	�
(?��
� 
One-Sample Statistics 
 

  N Mean Std. Deviation 
Std. Error 
Mean 

X&.@?3 248 3.99 .745 .047 

 
One-Sample Test 
 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
X&.@?3 6.935 247 .000 .33 .23 .42 

 
 
 

18. ��	��
��	��&�'&�/"�
�9
 &�
'-��������	����*+,�&��&��&%B	 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

1:3W:.; 248 3.96 .663 .042 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
1:3W:.; 7.211 247 .000 .30 .22 .39 

19. ��	��$9��	��$4&�����&���	�
������
��������;� 	�9+���& 4	��	'��9�,�����B��B�
�	���  
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

4:B`� 248 4.14 .701 .045 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
4:B`� 10.720 247 .000 .48 .39 .56 

 
 



 222 

20. ��	��
��	��	��+�$;#�
�.9,�:	�	� &���$4&� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

[\3�lb 248 4.03 .752 .048 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
[\3�lb 7.794 247 .000 .37 .28 .47 

 

 
 

�������@?�-A�B/���;�-;��
 
����;������= 

 
1. ��	��

�$�;B,#�	�
'
��'��� 
9-�� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

XW?� WS 248 2.82 .759 .048 

 
One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
XW?� WS 10.224 247 .000 .49 .40 .59 

 
 
 
 
 

2. ��	��& ;B,#�	�
��	�
�#:	
(?� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

bA�X&. 248 3.42 .686 .044 
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One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
bA�X&. 24.991 247 .000 1.09 1.00 1.18 

 
 

3. ��	�.���
(<%)	
�-���
��	;� 	�'& *���)�-���+� &�������&� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

X>=� 248 2.98 .895 .057 

 
 
One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
X>=� 11.503 247 .000 .65 .54 .77 

 
 
 
 

4. ��	�.��
���
(<%)	����	'
�-���#	  	��:	�	�)�& 
 $�.( 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

@A� �. 248 3.09 .856 .054 

 
One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
@A� �. 14.037 247 .000 .76 .66 .87 
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5. ��	�.��
���
(<%)	(�9
�-���
�-���#	  	���  :	�&� 	��
�)�& 
 $�.( 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

X3]^S� 248 3.07 .834 .053 

 
One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
X3]^S� 13.944 247 .000 .74 .63 .84 

 

 
������-��!�� 
6. ��	�.��9-��)	 �,���&��>)�-�.��D9��	��>������
��
�	 	��G�
�	 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

/32]^3 248 3.61 1.268 .081 

 
One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
/32]^3 15.884 247 .000 1.28 1.12 1.44 

 
 
 

7. ��	��
 	��	��*� 	�;B,#�	���+�
��� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

>� nZ. 248 3.65 .744 .047 

 
One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
>� nZ. 27.832 247 .000 1.32 1.22 1.41 
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8. ��	��& 
�����	��$9
)H��� ��&=��
�.9,�&�D� 	� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

X1.S 248 3.44 .870 .055 

 
One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
X1.S 20.010 247 .000 1.11 1.00 1.21 

 
9. ��	��$�9
�&�J<���	��$9
)H�������-��
��� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

4:ko  248 3.92 .647 .041 

 
One-Sample Test 
 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
4:ko  6.406 247 .000 .26 .18 .34 

 
 
 

10. ��	��& �	��*� 	��:	�	�����)�,	���9:	
�$� 	��	��&=�����
�>+ �,�� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

=> �.� 248 3.80 .677 .043 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
=> �.� 3.311 247 .001 .14 .06 .23 
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11.��	�;��;#;� 	�9+������	'�����
�������;�������&���+�
��� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

l1lb 248 4.06 .706 .045 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
l1lb 8.840 247 .000 .40 .31 .48 

 
 
 

12. ��	�
)H���	��:	�&%��� 	��:	(�� &�B
�$� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

@A�&48B:. 248 3.81 .859 .055 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
@A�&48B:. 2.760 247 .006 .15 .04 .26 

 
 

13. ��	�.���
(<%)	�	��)�
=�$� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

�.?-1�. 248 3.10 1.032 .066 

 
One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
�.?-1�. 11.819 247 .000 .77 .65 .90 
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14. ��	��	��*� 	�;B,#�	�����

�$��:	���.�,
*-���	��� 
�$� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

l�b�� 248 3.10 .983 .062 

 
One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
l�b�� 12.354 247 .000 .77 .65 .89 

 
 

15. ��	������	 	�
(�
����(��
(?�
�-���/���9	 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

X&=?^�. 248 3.49 .753 .048 

 
One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
X&=?^�. 24.224 247 .000 1.16 1.06 1.25 

 

 
-
<���D������C� 
16.��	��$9��	��	��+,�:	;),��	��:	�	�.9,9
�$���G=� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

2?+,-. 248 4.15 .696 .044 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
2?+,-. 11.077 247 .000 .49 .40 .58 
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17. ��	��& �$9�	���	��	��,	�
�-�� ����&����
)�� 	�!" 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

+�>1�4 248 3.81 .748 .047 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
+�>1�4 3.169 247 .002 .15 .06 .24 

 
 

18. ��	�
(?����
��	�����+,;�
�-����&��.(.��
�'	�
�-����	� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

4Sk4\ 248 3.45 .724 .046 

 
One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
4Sk4\ 24.402 247 .000 1.12 1.03 1.21 

 
19. ��	��& �:	��	��+,��	� I�
�.9,�	'&A�	��
�����������,	� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

W:q.� 248 3.63 .703 .045 

 
One-Sample Test 

Test Value = 2.33 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
W:q.� 29.003 247 .000 1.30 1.21 1.38 
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20. ��	�.��
��(K$
�/ 	�
�,	�&� 	�LM ����'&A�	�
���$4&�#&9;), 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

Sk43 248 3.69 .911 .058 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
Sk43 .510 247 .610 .03 -.08 .14 

 

 
-
<���D��!=E��� 
21. ��	�(��'N�$(O$�&�$��
����+�;� ���3
�/����&�9
��+�
��� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

_?=;443 248 3.94 .701 .044 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
_?=;443 6.374 247 .000 .28 .20 .37 

 
 

22. ��	��$9��	��
���
��	��9�� ��&� ���P-���&��"��#�$� ���)�,	�
� 	��	� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

S2@. 248 4.13 .638 .041 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
S2@. 11.673 247 .000 .47 .39 .55 
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23. ��	�.��
��
�	
(�
��*+,�-��
'-��;),.9,�$���
��,�� 	� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

X&4?�k 248 3.92 .914 .058 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
X&4?�k 4.468 247 .000 .26 .15 .37 

 
24. ��	�B���
)�-��������(<��$�����;),*+,�
��:	�	  ��	��+�
��� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

�>� 248 3.77 .749 .048 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
�>� 2.232 247 .026 .11 .01 .20 

 
 

25.  ��	��+,�G *$9)	 'N�$ ��������	��:	;),*+,�-��
9-�9�,�� 
One-Sample Statistics 

  N Mean Std. Deviation 
Std. Error 
Mean 

X2]S2 248 4.00 .907 .058 

 
One-Sample Test 

Test Value = 3.66 
95% Confidence Interval 

of the Difference 

  t df Sig. (2-tailed) 
Mean 

Difference Lower Upper 
X2]S2 5.976 247 .000 .34 .23 .46 
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�����3"
� 
����/��"��� SPSS Version 11 
 

1. ����	���	� 	��
��	��&�'&�/" &�)�& (�&B%	
3�4� $#'�
'
�� 
  

ANOVA(b) 
 

Model   
Sum of 
Squares df Mean Square F Sig. 

Regressio
n 

7.768 1 7.768 18.894 .000(a) 

Residual 101.140 246 .411     

1 

Total 108.908 247       

a  Predictors: (Constant), QW 
b  Dependent Variable: @� B�� 
 

 

2. ����	���	��	��!"�
��	��&�'&�/" &�)�& (�&B%	
3�4� $#'�
'
�� 
 ANOVA(b) 
 

Model   
Sum of 
Squares df Mean Square F Sig. 

Regressio
n 

15.484 1 15.484 73.469 .000(a) 

Residual 51.845 246 .211     

1 

Total 67.328 247       

a  Predictors: (Constant), QW 
b  Dependent Variable: S�43T 
 

 

3. ����	���	�#$��$%%	!�
��	��&�'&�/" &�)�& (�&B%	
3�4� $#'�
'
�� 
 ANOVA(b) 
 

Model   
Sum of 
Squares df Mean Square F Sig. 

Regressio
n 9.383 1 9.383 38.730 .000(a) 

Residual 59.595 246 .242     

1 

Total 68.977 247       

a  Predictors: (Constant), QW 
b  Dependent Variable: b�< 
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4. ����	���	��&����
��	��&�'&�/" &�)�& (�&B%	
3�4� $#'�
'
�� 
 

ANOVA(b) 
 

Model   
Sum of 
Squares df Mean Square F Sig. 

Regressio
n 13.530 1 13.530 47.404 .000(a) 

Residual 70.211 246 .285     

1 

Total 83.740 247       

a  Predictors: (Constant), QW 
b  Dependent Variable: 1: V3 
 

 
 


